ITEM NO. DESCRIPTION

QTY.

Bolt Down Mid Post Extrusion, 1020mm

] long.

Base plate 20 x 110 x 1T0mm

Cover Cap 94 x 114mm

Mid Full Post Cap

J—

Infill 75mm.

Plastic Packer

Type 1 Rubber; 1100mm Long

Type 2 Rubber;1100mm Long

NV [ O N O MO

Countersunk screws M5.5 x 75mm

o

Hexagon Head Screws M6.3 x 60mm

J—
J—

Handrail Pan Head Screw M5.5 x 40mm

AINI A IDNIDNINMNIDN

1100

90

930

80

30

80

50

4x @15THRU

EC

www.ecoscapeuk.co.uk

L

OSC

UK
APE.

| 0845 9011 988

DESCRIPTION: Bolt Down Mid Post, C/W Cover Cap & Base Plate.

Part Code Material

Finish

NAME

DATE

REVISION

ECOABMP1100 | Aluminium

Anodised - Silver

DRAWN

LT

12/09/2019

UNLESS OTHERWISE SPECIFIED
ALL DIMENSIONS ARE IN MILLIMETERS

ECOABMP1100BK | Aluminium

Powdercoat - Black

CHECKED

DO NOT SCALE DRAWING

SCALE:1:5

A3




UK
ECOSCAPL

www.ecoscapeuk.co.uk | 0845 9011 988

Opfion 1 - With Handrail Handrail Option 2 - Without Handrail
ECOABHR30/58(BK)
| | —=— , —
o
0
—
A 1 - Ll - LI e \“‘\\\ ol g
—eTTTTTTS -5 O wl T - ol =
et r ~~_ . ™ e - = =
17T \\\\‘ _______ ‘_,”’ (0, c,j b B - \\\\\\ -
— — ~
S0 11 50 o 50 |] | 50
o~ (@)
| 1 | ”
e 13
T )
[ 1 [Z ] [// ]
NB: . § ) 10mm Glass
To calculate glass width,- take 13
away 24mm from post centres.
DESCRIPTION: Bolt Down Mid Post, C/W Cover Cap & Base Plate.
Part Code Material Finish NAME | DATE  |REVISION UNLESS OTHERWISE SPECIFIED
ECOABMP1100BK [Aluminium Powdercoat - Black CHECKED DO NOT SCALE DRAWING SCALE:1:5




ITEM NO. DESCRIPTION QTY. Q U K
1 Bolt Down End Post Extrusion 1090mm Long. 1 E C O S C A P E®
www.ecoscapeuk.co.uk | 0845 9011 988
2 Base plate 1
3 Cover Cap 1
4 End Post Full Cap 1
5 Infill 75mm. 2
6 Plastic Packer 2
7 Type 1 Rubber; 1100mm Long 1
8 Type 2 Rubber;1100mm Long 1
9 Countersunk screw M5.5 x 75mm 4
10 Hexagon Head Screws M6.3 x 60mm 2
11 Handrail Pan Screw M5.5 x 40mm 4
1100
90 930 80
0}
\\ \\ :II
S
LO)
90
60
4Ax D15 THRU
CHE)
CleIC]
S g
ClEIC]
{_E_} G_} DESCRIPTION: Aluminium Balustrade System End Post - Bolt Down
S J Part Code Material Finish NAME | DATE _ [REVISION | (NLESS OTHERWISE SPECIFIED
ECOABEP1100| Aluminium Anodised - Silver DRAWN T 22/08/2019 ALL DIMENSIONS ARE IN MILLIMETERS A3
ECOABEP1100BK| Aluminium _ |Powdercoat - Black CHECKED DO NOT SCALE DRAWING SCALE:1:5




UK
ECOSCAPL

www.ecoscapeuk.co.uk | 0845 9011 988

Option 1 - With Handrail Option 2 - Without Handrail

ECOABHRXX
Exad) ——
e
g
- T e Te It - - (@ (@
50 50 50 50
S S
ECO10TG
ECO10TG
{ ‘ )
o \\
NB: 10mm Glass
To calculate glass width,- take away
24mm from post centres.
Part Code Material Finish DESCRIPTION: Aluminium Balustrade System End Post - Bolt Down
. . . . NAME DATE REVISION UNLESS OTHERWISE SPECIFIED
ECOABEP1100BK[  Aluminium  [Powdercoat - Black CHECKED DO NOT SCALE DRAWING SCALE:1:5




UK
. ECOSCAPE.

| www.ecoscapeuk.co.uk | 0845 9011 988
o | M DESCRIPTION QtY
A : Side Fix Mid & End Post Extrusion, 1390mm :
@w%@;@ long.
2 End Post Slotted Cap 1
3 Infill 75mm.
4 Plastic Packer 2
5 Type 1 Rubber 1400mm Long 1
) 6 Type 2 Rubber 1400mm Long 1
- N 7 Side Fix Post Bottom Cover Plate 1
8 Side Fix Post, Side Cover Cap 1
@ S 9 Infill 380mm For Side Fix Posts 1
i 10 Infill For Side Fix End Post,1395mm long. 1
A _\\‘\\_ I ] b 11 Countersunk tapping screws M5.5 x 40mm 4
T 12 M12 Nut 2
Q)\\ —110 13 M12 Washer 2
14 M12 x 120mm threaded rod 2
15 Handrail Pan Screw M5 x 40mm 4

L
—

I | :
! 1
80 9230 390
1400
/ II
i |
\ \
[ Voo © 1o}
! !
_ 150 55
DESCRIPTION: Side Fix End Post, C/W Cover Cap.
Partf Code Material Finish NAME | DATE  |REVISION UNLESS OTHERWISE SPECIFIED
ECOABEP1395 Aluminium [|Anodised - Silver DRAWN 7 23/09/2019 ALL DIMENSIONS ARE IN MILLIMETERS A3
ECOABEP1395BK| Aluminium [Powdercoated -Black| | CHECKED DO NOT SCALE DRAWING SCALE:1:5




50

Option 1 - With Handrail

Handrail ECOABHR30/58

s

UK
ECOSCAPL

| 0845 9011 988

www.ecoscapeuk.co.uk

Option 2 - Without Handrall

o
0
@)
o
- =
™
o~
————— 0 1T T )
I e
< <
103 (R O
o
o
3 50 R
) o)
¥s) o)
50
(
10mm Glass /
DESCRIPTION: Side Fix End Post, C/W Cover Cap.
Partf Code Material Finish NAME | DATE  |REVISION UNLESS OTHERWISE SPECIFIED
ECOABEP1395 Aluminium [|Anodised - Silver DRAWN T 23/09/2019 ALL DIMENSIONS ARE IN MILLIMETERS
ECOABEP1395BK| Aluminium |Powdercoated -Black| | CHECKED DO NOT SCALE DRAWING SCALE:1:5

A3




[ ] 1

I I

25

62

DETAIL A

SCALE 1:2

EC

www.ecoscapeuk.co.uk

05

UK
CAPE.

| 0845 9011 988

PART CODE A MATERIAL | GLASS SIZE FINISH
ECOABHR30 3.0m Aluminium 10 mm Anodised - Silver
ECOABHR58 5.8 m Aluminium 10 mm Anodised - Silver
ECOABHR30BK 3.0m Aluminium 10 mm  [Powdercoat - Black
ECOABHR58BK 58m Aluminium 10 mm Powdercoat - Black

DESCRIPTION:  Rectangular Handrail 62 x 25mm With Undercap
NAME DATE _ |REVISION UNLESS OTHERWISE SPECIFIED
DRAWN T 16102019 ALL DIVENSIONS ARE IN MILLIMETERS A3
CHECKED DO NOT SCALE DRAWING SCALE:1:5




ITEM NO. DESCRIPTION

QTY.

Bolt Down Mid Post Extrusion, 1020mm

] long.

Base plate 20 x 110 x 1T0mm

Cover Cap 94 x 114mm

Mid Full Post Cap

J—

Infill 75mm.

Plastic Packer

Type 1 Rubber; 1100mm Long

Type 2 Rubber;1100mm Long

NV [ O N O MO

Countersunk screws M5.5 x 75mm

o

Hexagon Head Screws M6.3 x 60mm

J—
J—

Handrail Pan Head Screw M5.5 x 40mm

AINI A IDNIDNINMNIDN

1100

90

930

80

30

80

50

4x @15THRU

EC

www.ecoscapeuk.co.uk

L

OSC

UK
APE.

| 0845 9011 988

DESCRIPTION: Bolt Down Mid Post, C/W Cover Cap & Base Plate.

Part Code Material

Finish

NAME

DATE

REVISION

ECOABMP1100 | Aluminium

Anodised - Silver

DRAWN

LT

12/09/2019

UNLESS OTHERWISE SPECIFIED
ALL DIMENSIONS ARE IN MILLIMETERS

ECOABMP1100BK | Aluminium

Powdercoat - Black

CHECKED

DO NOT SCALE DRAWING

SCALE:1:5

A3




UK
ECOSCAPL

www.ecoscapeuk.co.uk | 0845 9011 988

Opfion 1 - With Handrail Handrail Option 2 - Without Handrail
ECOABHR30/58(BK)
| | —=— , —
o
0
—
A 1 - Ll - LI e \“‘\\\ ol g
—eTTTTTTS -5 O wl T - ol =
et r ~~_ . ™ e - = =
17T \\\\‘ _______ ‘_,”’ (0, c,j b B - \\\\\\ -
— — ~
S0 11 50 o 50 |] | 50
o~ (@)
| 1 | ”
e 13
T )
[ 1 [Z ] [// ]
NB: . § ) 10mm Glass
To calculate glass width,- take 13
away 24mm from post centres.
DESCRIPTION: Bolt Down Mid Post, C/W Cover Cap & Base Plate.
Part Code Material Finish NAME | DATE  |REVISION UNLESS OTHERWISE SPECIFIED
ECOABMP1100BK [Aluminium Powdercoat - Black CHECKED DO NOT SCALE DRAWING SCALE:1:5




> oS CAPE

www.ecoscapeuk.co.uk | 0845 9011 988
N 1M DESCRIPTION QTY
A 1 Side Fix Mid & End Post Extrusion, 1390mm long. 1
£
2 Infill 75mm. 2
3 Plastic Packer 4
4 Mid Full Post Cap 1
I 5 Type 1 Rubber 1400mm Long 2
.. I 6 Type 2 Rubber 1400mm Long 2
1110 7 Side Fix Post Bottom Cover Plate 1
8 Side Fix Post, Side Cover Cap 1
9 Infill 380mm For Side Fix Posts 2
10 Countersunk tapping screws M5.5 x 40mm 4
e St SN 1 M12 Nut 2
o I - 12 M12 Washer 2
1T (=~ o 13 M12 x 120mm threaded rod 2
Mereee = il 14 Handrail Pan Screw M5 x 40mm 4
930
| L
L |
I /: /:
1010 390
1400
[ Voo © {03
l 150 55
- DESCRIPTION: Aluminium Balustrade System Side Fix Mid Post, C/W Cover Cap.
Part COde MOTerIOl FiniSh NAME DATE REVISION SS O 'SE SPEC
- ; ; UNLESS OTHERWISE SPECIFIED
ECOABMP1395 Aluminium  [Anodised - Silver [~ T 24/09/2019 ALL DIMENSIONS ARE IN MILLIMETERS A3
ECOABMP1395BK | Aluminium  [Powdercoat - Black [ ecep DO NOT SCALE DRAWING SCALE:1:5




UK
ECOSCAPL.

www.ecoscapeuk.co.uk | 0845 9011 988
Option 1- With Handrail

Handrail ECOABHR30/58 (BK) Option 2 - Without Handrail
ﬁy E o, B
g
e
g
<1
3 S
_____ o
5 | A B R—
Al g
< 3
~ <
N
[ © [ ©
g g
L) L0
<1 <
LO) LO)
50 50
| ]
10mm Glass /
- DESCRIPTION: Aluminium Balustrade System Side Fix Mid Post, C/W Cover Cap.
Part Code Material Finish
. NAME DATE REVISION UNLESS OTHERWISE SPECIFIED
ECOABMP1395 Aluminium | Anodised - Silver | prawn T | 2400002010 ALL DIMENSIONS ARE IN MILLIMETERS A3
ECOABMP1395BK Aluminium | Powdercoat - Black [ creckep DO NOT SCALE DRAWING SCALE:A:5




	Sheet1
	Drawing View34
	Drawing View36
	Drawing View61
	Drawing View62

	Sheet2
	Drawing View49
	Drawing View52
	Drawing View54
	Detail View L (2 : 5)
	Detail View M (2 : 5)
	Drawing View56
	Drawing View57
	Drawing View64
	Drawing View65
	Drawing View68
	Drawing View69

	ECOABEP1100 - Ecoscape Aluminium Balustrade System Bolt Down End Post Product Detail.pdf
	Sheet1
	Drawing View34
	Drawing View61
	Drawing View62

	Sheet2
	Drawing View56
	Drawing View57
	Drawing View64
	Drawing View65
	Drawing View68
	Drawing View69


	ECOABEP1395 - Ecoscape Aluminium Balustrade System Side Fix Mid Post Product Detail.pdf
	Sheet1
	Drawing View71
	Drawing View77
	Drawing View78
	Drawing View79
	Drawing View80
	Drawing View81
	Drawing View82

	Sheet2
	Drawing View56
	Drawing View57
	Drawing View64
	Drawing View65
	Drawing View84
	Drawing View85


	ECOABHRXX - Ecoscape Aluminium Balustrade System Handrail Product Detail.pdf
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View6
	Drawing View7
	Detail View A (1 : 2)


	ECOABMP1100 - Ecoscape Aluminium Balustrade System Bolt Down Mid Post Product Detail.pdf
	Sheet1
	Drawing View34
	Drawing View36
	Drawing View61
	Drawing View62

	Sheet2
	Drawing View49
	Drawing View52
	Drawing View54
	Detail View L (2 : 5)
	Detail View M (2 : 5)
	Drawing View56
	Drawing View57
	Drawing View64
	Drawing View65
	Drawing View68
	Drawing View69


	ECOABMP1395 - Ecoscape Aluminium Balustrade System Bolt Down Mid Post Product Detail.pdf
	Sheet1
	Drawing View71
	Drawing View77
	Drawing View78
	Drawing View79
	Drawing View80
	Drawing View81
	Drawing View82

	Sheet2
	Drawing View56
	Drawing View57
	Drawing View64
	Drawing View65
	Drawing View84
	Drawing View85





